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FIRST TERMINAL EXAMINATION
STANDARD - 4

Time : 2 hrs.

ggi'inrgirks | ENGLISH | Marks; 50

out ot 80 (Write the answers Ii:natrhte-qlt-}estion paper itself)

1.  Circle the correct answer: 2
a. toil - work hard work well work always
b. withered - folded dried shaded
C. reluctantly - happily unwillingly unkindly
d. filthy - easily happy dirty

2. Use -er to complete the sentence: 3
a. RaKeSh iS ... (good / batsman)

b. MY SISEEI IS i (old / brother)
C. The Dat IS oo (big / ball)

3.  Write the opposite of: 2
ShiNE X oo SOft X
ACCEPT X e IVING X e

4. Complete the following using the expression ‘as......... as’: 3

a. | don’t like him. He is ..............ccoiiiceiiiiiieeeeeeeen .. (cunning / fox)

b. The princess Was ..........cccooiciiiiieieeee e (beautiful / rose)
C. The little girls were ... (bright / sunshine)
5. Where would these people go to worship? 3
a. A Sikh would go t0 @ ...oiniiiii
b. A Muslim would go t0 @ ..oooeiiiiiiii
C. A Jew would go t0 @ ..oiiiiiiii
6. Use the given words to fill in blanks: 3
was playing were playing was studying were studying
a. ShE e at the University.
b. My sister and | ... near the river.
C. RaAVI e for the school team.



10.

11.

Write two rhyming words for each:

bound e eeeeeeeess e e e e e e e e aeeeaerrra—a
toss merrerrrreeeesnrersenreesenreeeenns eeseseeessssreesssseresssseeessaneressenes
What do they do?

a. A cobbler - e
b. A MASON - e ——————————————————
C. A YIICIST = e
Complete the sentences meaningfully:

a. If you want SOMEe MONEY .......cooiiiiiiiiiiiie e
b. If YOU COME NOW ..ot
C. If 1 don’t pass the eXam ...

Choose an adjective, add —est and fill in blanks:

bad fat wide
a. The Pacific Ocean is the .......cccccoiiiiiiiii e in the world.
b. Prem was the .........ooooiiiiiie of all the boys in the class.
C. This was the ... match of the season.

Read the following passage on penguins and answer the questions:

Penguins are one of the world’s most interesting birds. They are a
group of flightless birds living almost exclusively in the southern hemisphere.
Some types of penguins are also found in Galapagos Islands.

They waddle when they walk, and have flippers instead of wings. The
bones in a penguin’s flippers are heavier and more solid than those in the
wings of a flying bird. This helps the penguin “fly” through the water. The
penguin’s black back and white front has an important function, too -
camouflage in the water. Penguins blend in with the sea from above and with
the sky from below. This makes it harder for predatory birds, leopard seals,
sea lions and sharks to see them.

Let’s talk about the Emperor penguin of Antarctica. The Emperor
penguin is the world’s largest penguin. lts oily outer feathers help keep it dry.
Its dense inner down feathers and thick fat layer helps keep it warm.
Emperor penguins also often huddle in groups to conserve heat. A mother
Emperor penguin lays only one egg at a time. After the mother Emperor
penguin lays the egg she travels to the open sea to feed on fish, squid etc.
The father stays behind with the egg. He keeps it warm and protected by
balancing it on his feet and covering it with feathered skin.
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12.

13.

14.

a. Most wild penguins live...
in South Africa D near the North Pole D

in the Southern Hemisphere D near the Equator D

b. The father Emperor penguin keeps the egg warm and hatches the
chick. Where is the mother penguin during this time?

C. How are a penguin’s flipper bones different from the bones in other birds’
wings?

d. A sea lion might have a hard time seeing a penguin swimming in the water.
Why?

A penguin becomes invisible when it swims in cold water. D
It swims very fast and looks like a streak zooming through the water.C]

Because the penguin blends in with the sea and the sky. D

e.  With the help of clues given, find the words from the passage:
() P (o [T [ oiee e e (hint: unable to fly)

(1) I P rve (hint: preserve or maintain)

PART - B

(Use separate answer sheets to write the answers)

Complete the following: 4
a. Persephone could stay with her mother only half the year because........

b. Nursing was not a respectable profession because.............

C. Antonio was unable to pay Shylock because.............

d. The Greeks prayed to Demeter because.............

Answer the following questions: 8
a. Why did Hades agree to send Persephone back?

b. Why does the boy prefer cycling down a hill to skating?

C. How did Shylock get a chance to take revenge on Antonio?

d. What was the condition at Scutari before Florence came to work there?

Describe in your own words a wonderful experience with your bicycle: 5
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Total marks
obtained
out of 50

FIRST TERMINAL EXAMINATION

STANDARD - 4

Marks : 50

Part - A

(Write the answers in the question paper itself)

1. Do as directed:

a.

Expand the following number.

88436 -

Counting in hundreds write the next two numbers.

Write in words.

685004 -

Subtract the smallest number from the greatest number.

7658, 4536, 7689, 65887 -

Write in descending order.

7658, 6587, 7998, 5768

Write the greatest four digit number with given digits.

3,960

Round off the following numbers to the nearest thousand.

Write the number for the given expanded form.

50000 + 4000 + 200 + 20 + 5 = .coiiiiiiiieiiiei e,

6784 x 0 =

MATHS Time : 2 hrs.
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2. Add the following:

a. 4563 + b. 3009 + c. 5621 +
7331 5454 2438

3. Subtract:

a. 8769 — b. 6758 — c. 9654 -
6543 4809 3429

4. Multiply the following:

a. 48 x b. 452 x C. 689 x
5 7 34

5.  Multiply using expanded notation method:

a. 7301 x 4

b. 673x7



10.

11.

12.

13.

14.

15.

Estimate each sum to the nearest thousand: 2
a. B271 + 1012 = e
b. 5120 4+ 8121 = e
Estimate each difference to the nearest hundred: 2
a. 82 — 12 = i ————————————————

D. 954 — 342 =

PART - B
(Use separate answer sheets to write the answers)

Simplify: 4
a. 6554 — 4521 — 212 — 654 b. 54387 + 4569 + 674 — 279

The sum of three numbers is 85758. If the two numbers are 50235 and
25481. Find the third number: 3

By how much is 67788 greater than 44221? 2
Add the following numbers: 2
a. 43897, 45852, 5437, 34 b. 45689, 45112, 564

Motu and his friends scored 350 runs in the first innings. His friend
Sonu scored 45, Atul 33, Rakesh 45, Anil 95, Mukesh 66. How many runs
did Motu score? 3

Round off 77123 and 4537 to the nearest hundred. Then find the
difference: 2

A coconut farm had 78023 trees. 6481 trees were destroyed in the
heavy rains. How many trees were left? 2

If the sum of 568 and 412 is subtracted from the sum of 879 and 101,
what number is got? 3
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FIRST TERMINAL EXAMINATION
STANDARD - 4

Total marks SCIENCE Time : 2 hrs.
obtained Marks : 50
out of 50 Part - A

(Write the answers in the question paper itself)
1. Fill in the blanks: 5

a. The earthworm breathes through its ........ccccoooiiiiiiiiiniii e,
b. Polar bears have a thick layer of .......ccccccoviiiiiinnenn. under their skin.
c. The gas used by leaves to prepare food is called ............cccc......... .
d. Carrots StOre ........eoeeviiiiiiiiiieee e in their roots.

e. Animals that live on land are called ... .

2. Match the following: 5
[ monkeys ]
i )
[ parasite ]
[ breathing tube J
[ natural environment ]
3. Tick the correct option: 3
a. In water plants stomata is present on the (upper / lower) surface of
the leaf.

b. Human beings are (carnivores / omnivores).
c.  Fish breathes through (lungs / gills).
4. Name the following: 3
a. Tiny pores on the leaves of plants.
b. A parasite that lives in the human body. .

C. Plants that are completely immersed in water.  ........cccociiieeiininne.
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Define:

a. [ L= T 1Y/ 0T (==
b. Yo F= T ] £= 11T ] o USSR
C. oY = 111 (= 1= H PR

a. =TT o o PO PPPPPRPPN
b. FiXed Plants: ...
C. BagIES: e

Give a reason why:

a. Desert plants have spine like leaves.

b.  Some animals sleep during winter months.
c. Leaves are green.



10.

11.

d.

e.

State whether true or false. If false, write the correct statement: 4
a. Whale breathes through its gills. [:]
b.  Monkeys use their tails to balance themselves on trees. :]
C. Exchange of gases take place in flowers. :]
d. Hookworm lives inside the bodies of animals. :]
PART - B
(Use separate answer sheets to write the answers)

Draw a leaf and label its parts. 5
Show with an experiment that sunlight is needed for the leaves to
prepare food. q
Answer the following: 10
a. Why do some animals have fur on their bodies?
b.  How does camouflage help animals?
C. Give one example for each:

(i) Amphibians (i) non-green plant
d. How does a plant use food?
e.  Where are the following found?

(i) Hydrilla (ii) Pine (iii) Frogs (iv) Opossums 5

Chameleons change colour.
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Total marks

obtained
out of 50

1. Match the following:

FIRST TERMINAL EXAMINATION

STANDARD - 4

SOCIAL STUDIES

Part - A

Time : 2 hrs.
Marks : 50

(Write the answers in the question paper itself)

[ Narmada river

Ludhiana

Anamalai hills

Aravali hills

J
[ J
[ Hugli ]
[ J
[ J

2. Fill in the blanks:

e.

Western Ghats

Rajasthan

Satluj basin

Central Highlands

— N Y (C N N

Kolkata

— ) J J

dam has been built on the river Satlu.

The Himalayan mountains range from Jammu and Kashmir to ........ .

The Southern Plateau is divided into

The FIVEr .o originates in Tibet.

The National Anthem was written by ........ ..o .

3. Name the following:

The highest waterfalls in India.

A crop grown in plenty in Brahmaputra basin.

The place where Yamuna joins Ganga.

First Nepali to climb Mount Everest.

The famous delta of the Ganga basin.

14



Where are they located?

a. Iron and Steel industries -
b. Indira Gandhi Canal m e
C. Himadri S ——————
d.  Ashoka Pillar e ————
e.  Shiwalik range e ———————

State whether true or false:

a. The Northern Plains are very fertile.

b. Dense population along rivers causes pollution.

c. The rivers in the Deccan Plateau flow from glaciers.
d. Varanasi lies along the river Godavari.

e. It is always very hot in the deserts.

Cut out the odd one and say why:

a. Narmada Krishna Godavari
b.  Ghagra Gandak Kosi
c. elephant camel leopard

2V,

42
Kaveri
Ganga

sambar



7.

10.

On the map of India, mark: 4

Nepal Northern Plains Deccan Plateau Thar Desert

PART - B
(Use separate answer sheets to write the answers)
Draw the national flag and write the colours: 4
Answer the following: 10

a. How is Rajasthan divided? Which part of Rajasthan is desert?

b. What is peculiar about the hills and slopes of the lesser Himalayas?

C. What are the two plateaus that comprise the Central Highlands?

d. How does a desert area increase?

e. What are the main industries in the Deccan region?

What are they? 5

Nomads Hydroelectricity Oasis River basin K2

16



SECOND TERMINAL EXAMINATION
STANDARD - 4

Total marks [ENGLISH] Marks: 50
out of 50 Part - A
(Write the answers in the question paper itself)
1.  Use the suffix ‘-less’ and fill in the blanks: 2
a.  The. children slept on the streets. (home)
b.  We sold the cycles as they were..........cccccvviiiiieiieiinneene, .(use)
C. The ..o, body was taken out of the swimming pool.(life)
d. He was scolded for being ........ccccoueeemiiiiiiiiiiiii e (care).
2.  Write the noun form of the words: 4
ADJECTIVE NOUN
a. angry
b. shabby
c. true
d. neat
3.  Who are they? 3
a. Apersonwho can guide aship.
b. A person who is a member of a ship’s crew. ...,
c. Apersonwhoisamemberofanarmy.
4, Use ‘one’ ‘another’ or ‘the other / others’. Use only once: 3
a. Ram and Shyam are twins. ..................... isadoctorand .........ccceeeeeennnns

is a lawyer.
b. | cannot give you this story book. | will give you .............ccceeviieriieeiiiininns
5. Change the following into reported speech: 3
a. The shop keeper, “ What do you want? ”
b.  Teacher to students, “ Have you brought your books?”

c. My friend asked me, “When is school reopening?”



Rewrite sentences using ‘not only............ but also’: 3
a.  Scrooge raised Cratchit’s salary and visited the family often. ........................
b. Ihaveadogandtwocatsaspets. 0 L
C. He is good at cricket and football. L,
Join the following sentences with “who”: 3
a. Rahulis my brother. He is very tall. L
b. I gave the book to Seema. She has a test tomorrow. ...........cccceeeveeeenns
c.  Thelittle children got the prize. They sang very well. ..........cccceeiiiiiineenn.
Read the story and write the answer in a few words: 5

One day, Tiggy Tiger caught a baby fox. He
carried him off to his cave in his mouth.

On the way, Tiggy met Father Fox. He was
surprised to see that the fox was laughing

aloud. “Hee! Hee! % e'“'u

“How strange that the father fox should laugh ; : A&‘T‘;H = el
when his baby has been caught!” Tiggy thought. ¢ {iirfé.*:r - Tu WL =
Soon Tiggy noticed that Mother Fox was also l\“b““ -

laughing, and the fox’s little brothers were Frogn, ¢ ;

laughing with her,too! p—t

They all stood around Tiggy and laughed. “Ha! Ha! Hee! Hee!” When he heard
them, Tiggy too burst out laughing.

The moment Tiggy opened his mouth, the baby fox jumped out. Then all the
baby foxes ran off to the safety of their hole.

“Why did you all laugh so?” Tiggy called out. “To make you laugh! Then I could
save my baby,” said Father Fox, laughing.

Tiggy saw the joke. All he could do now was join in the laughter too!

a. Whatdid Tiggy Tiger catch? e
b.  Whatdid Father Fox do? e
c. Whatdid Mother Fox do? s
d.  What happened when Tiggy opened his mouth? .........ccccooiiiiiiiininnnnns

e.  Find the opposite of: crying ................. ,oosat



10.

11.

12.

13.

14.

Use the given words to fill in the blanks: 3
collapsed peacefully disobeyed

a. The earthquake caused many buildingstobe .................cooiiis .

b. The naughty boy .........ccooiiiiiiiiinnennnn. his parents and was punished.
C. Theymarched .......ccccocooieiiiiiiniiiiiinns from the ground to the town hall.
Match the word with its meaning: 2
[ a. shabby ] [ avoid ]
[ b. stench ] [ get ]
[ C. procure ] [ horrible smell ]
[ d. shirk ] [ in bad condition ]

Who said these to whom? 2

a. “l am prepared to bear your company. Will you not speak to me?”

b. “I've come to take you home, dear brother”.

Fill in the blanks with the correct form of the verb in the brackets: 2

a. Maryrantopickupthe ... mango (fall)

b.  Mohanfound his .........cuuuiiiiiiiiie s watch (lose)
Part - B

(Use separate answer sheets to write the answers)

Answer the questions: 10
a. How did Vasco da Gama put down the mutiny?

b.  What do you think, the ghost wanted to tell Scrooge by showing him the
vision of the dead man?

Why did the poet pity the tramp?
Why was Vasco Da Gama asked to find a sea-route to India?

e. What caused Scrooge to feel ashamed of himself when the ghost showed
him Christmas at Bob Cratchit’s house?

Write a paragraph on a trip by boat: 5

Where did you go? With whom? How long was it? What did you see?
Did you stop anywhere? Any other interesting facts?

19
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obtained

SECOND TERMINAL EXAMINATION
STANDARD - 4

Time :
Total marks | MATHEMATICS | Marks -
out of 50 Part - A
(Write the answers in the question paper itself)
Do the following:
a. Imagine and write the weight in kilograms. Bag ‘B’ is the heaviest and
Bag ‘A’ is the lightest.
A B
=
S
-

b. Colour the level of water in each glass and write the measure in ml.
Glass ‘A’ has more water than glass ‘B’.

Choose and write the multiples and factors of the following products:

a. 5x1 =5 Mutipe () Factors ( ) (

b. 6x8 =48 Mutiple () Factors ( ) |

Are these numbers odd or even? Write two more of the same kind:
48 24 36 50
Are these numbers odd or even? Write two more of the same kind:
41 23 37 59

Write ‘T’ or ‘F’:
12 is a factor of 60 :)

da.

b. 1 cm =100m :)
C. 1 km = 1000m :)
d

The distance around a circle is called perimeter ()

22



10.

Fill in the blanks:

a. If one is added to every odd number we getan ..................... number.
b. LCOM S LOWEST ..ot et e .
C. 1000mlis equal 1o ......ooiiiiiiiiiii e e

d. The distance around a figure or shapeis called ...............ccccceennanen. .
e. 100 paise isequal to RS. ..o .

Convert the following:

a. 29 550 Mg 10 MO — e
b. 6000 ml to litre — rresrrrrereressrrr e e s e s anr e nan
C. 201 150mMI 10 Ml —
d. 34000 m to km  eertrerrrreerrresserrer e e e e e se s anrrenaaas

Measure the line segments and write the answer:

a. x B b. c 5

L] ]

Do as directed:

a. Tick the packets you will use to make the total 1kg.

b. Tick the bottles to make the total of 750 ml.

~—rT

[y 200 mi ‘ 250 ml

1 O [] []
Write the even numbers between 112 and 122:



11.

12.

13.

14.

15.

16.

17.

18.

19.

Look at the figures and fill in the blanks:

Iem 3em

7Tem

Perimeter = ...coovvevvienenn.

a. Find the perimeter. b.

Find the missing length.

Jem

Perimeter = 28 cm TG

Part - B

(Use separate answer sheets to write the answers)

Add the following and express in litres (/):

650 ml, 775 ml, 575 ml

2509, 350g, 400g

55

a. 350 ml, 450 ml, 200 mi b.

Add the following and express in kgs:

a. 300g, 500g, 200g b.

Find the prime factors of the following nhumbers:
a. 78 b.

Find the L.C.M of:

12, 24, 32

Find the H.C.F of the following numbers :
18, 30, 42

Gokul went to the book shop to buy some books. The English books cost
Rs. 98, Science books Rs. 105, Social Studies books Rs. 87, Maths books
Rs. 75, and Hindi books Rs. 47. His mother gave him Rs. 500. How much

money did he have left?

The school library got 396 new books. The books were distributed equally

among 18 classes. How many books did each class get?

Rani got Rs. 225 as pocket money every month. How much money did she

get in one year?
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SECOND TERMINAL EXAMINATION
STANDARD - 4

Total marks Time : 2 hrs.
obtained | SCIENCE | Marks : 50
out of 50 Part - A

(Write the answers in the question paper itself)

1. Mark the parts: ] 4
[
)
[
2. Tick the correct option: - 3
a. The teeth at the back of the mouth is canine/molars.
b.  The baby cockroach is called fry/nymph.
c. The ribs protect the stomach/heart.
d. Smoke and ash are examples of physical/chemical change.
3. Name the following: 5
a. Change of water into ice. e
b.  The amount of space taken up by matter. - ...,
c. Afooditem that helps usto keep warm. - s
d.  The protective layer covering the egg. - .o
e. The top portion of the tooth. et ——————
4, Match the following: 3
a.  ( Temporary teeth ) ( 206 )
b.  ( Skeletal system ) ( Tooth decay )
c. ( Bacteria ] ( Large intestine ]
d | Sugar ) ( 20 )
e. ( Man ) ( energy giving )
f. ( Digestive system ) ( mammal )
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Look at the picture and describe the life cycle of a butterfly:

When the eggs of a butterfly ........................ , atiny
.................. comes out. It looks like a .................
anditisthe ........ccooeeviinnnenn. stage.The caterpillar
feedson ......cccoccveeeinns and grows. It then covers
itself with a special thread like structure or case
called a.....ccccceeruneee. . This stageisthe ...............
= stage. A few weeks later, this case breaks open
and an ... comes out.

[ worm, leaves, hatch, larval, caterpillar,
cocoon, pupa, adult butterfly ]

Write any two parts of the given system of our body:

a.
‘ %\ Consists of
b.
24
S
' Consists of
c.

Consists of

Give a reason for:

a. Gases easily change their shape and volume : ...........ccccoiiiieeeiiiiieeenn.
b.  Roughage mustbe included inthe diet: ..........ccccviiiieiiiiie,
C. [tis importantto EXercCiSe @ .......ccuueiiiiiiieiiiee e
d.  We should not eat food whichis leftopen: ........cccccorirriiiiiiciicice,
e. The parentbirdssitonthe eggs : ...
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10.

Fill in the blanks: 5
a. Moleculesare made Up Of .....cocciiiii i .
b. Whenwebreatheout ............cccceciiiiie goes out of the lungs.

c. The place where one bone joins with another bone iscalleda ......................

d. The skin removes the waste material called ..........cccccceeeniiiiiiiinnn,
from our body.
e. Frogsarecalled.........ccccuviviiineenn. because they live on land and water.
Part - B
(Use separate answer sheets to write the answers)
Answer the following: 12

a. What are molecules?
b. Differentiate between chemical change and physical change.
C. How can we protect our teeth from tooth decay? (give two points)
d.  What are the functions of
i. excretory system
i. incisors
ii.  muscles

Look at the activity and answer: 3

a.

—/“5;,-, I'
# NG What does this prove?
o

.

)"' - What does this prove?
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SECOND TERMINAL EXAMINATION
STANDARD - 4

Time : 2 hrs.

Total marks
1o me | SOCIAL STUDIES | Marks : 50
out of 50 Part - A

(Write the answers in the question paper itself)

1. Mark the following states in the map:- 4

( Andhra Pradesh, Gujarat, Jammu and Kashmir, Tamil Nadu)

2. Name the state for these dance forms : 4
a. Tamasha e reereeeeeeeeeeeeeeeaaeaaeessseeererrrrrrrrrre et e eeeaaaeaeaaa
b.  Yaksha Gana - .
C. Ottan Thullal - e
d. Garba e eeerreeeeereesssseeeesesssssoeeeeesesssceeessesssssceeeessesssacseseeseeeas



3.  Fillin the blanks: 5
a The home of the Asiatic lions is the famous..................ccccciineee. .
b.  The salt water lakes of the western coastal regions are called............ .
c. The famous Jaisalmer fortis in the state of.........ccccoeeeeiiiiiiiii .

d.  Jaipuris KNOWN @s ..........ccouiiiiiiiiiiiiiiieeeee

C. e go from place to place in search of food.
4. Match AtoB to C: 10
A B c
( States | ( capitais )
[ Gujarat ] [ Bangalore ]
( Goa ) ([ Kolkata |
( Kamataka | ( shima )
[ Paschim Banga ] [ Gandhinagar ]
( Himachal Pradesh | ( Panaj |

5. In which region will you find the following states? Tick the right answer: 5

a. Assam Central plateau [] Himalayan region []
b. Kerala Southern plateau[ |  Central plateaus | |
c. Karnataka Western coastal region [] Central plateau []
d.  Paschim Benga Northern plains[ ] ~ Southern plateau[ ]
e. Rajasthan Himalayan region [] Desert region []
6. In which states are the following situated: 4

Brindavan Gardens = oo

a.
b. Bodh Gaya e e s

o©

Kanchenjunga e

Dal Lake e

e



7. Match the following:

[

[

a. Anand
[ b. Boatrace
(c. TajMahal
[ d. Nomads
[ e. Bihar

f. Khajuraho

8. Name the following:

a.

b.

9. Answer the following:

Home of clouds

Land of Rajahs

Famous for coral reefs
Underground railway

Largest diamond mine

in India at

What is Goa famous for?

(Use separate answer sheets to write the answers)

3
( Vihara )
( Madhya Pradesh |
( Rajasthan )
[ milk )
( Kerala )
T
5
Part - B
10

What soil is best suited for growing cotton? In which region is it found?

What do houses in Rajasthan look like?

What is the Indira Gandhi Canal?

What is the main occupation of people of Tamil Nadu? What traditional

dress do the men wear?
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ANNUAL EXAMINATION
STANDARD - 4

Total marks [ENGLISH] Marks: 50
outof 50 (Write the answers Ii:natrhte-qlt-}estion paper itself)
1.  Write the opposite gender of : 3
a. Actor — b. Lord — errrrrreere————
c Man — d Cow —
e. Monk — f. Father — ..
2. Make a sentence with each of the following words: 3
a. MUSE e
D, CAN e
C.  CoUldNOt e
3. Rewrite the sentences using the short form: 3
a. ltwas raining all night. e
b. Itis the best book | have read. ...
C. [t will come tomOorroOW. e
4. Find the word: 4
a. Athing you use to see your face. ........... cccoeeeeen. S R
b.  Thecoveringofanegg. ........cc. coeeeennn. E e s
c. Agoodfriend. C.....ccc. coeeenne P [ e
d.  Aplace where a dog is kept. .......... E o L
5.  Write the questions Rakesh asks Rina: 3
a. RaKeSh: . ————

Rina: | have four sisters.

b. RaKESN: .o ————
Rina: No, thank you. We just had breakfast.

C. RaKESN: .o ————

Rina: We live in a big house.
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Use the choices given and write an answer:

a. I don'thave money. | ......cccocceiiiiiiiiinns my purse. (has lost, have lost)
b. The team cannot play. They.................... (has come, have come) late.
c. Canhegohome?He ...........ccceeiiiieviiecciiiiieeeeeees ... (has finished, will

have finished) his work.

Use the following phrasal verbs correctly:

( call off break down call on ]
A We my grandmother on our way home.
b. The car ..o on our way to school.
C. Thematchwas ........ccccoiiiiiiiiiiiiea because of the rain.

Select the correct meaning:

a. Fragrant - small piece |:| sweet smelling |:|

b. Glared — looked scared |:| stared angrily |:|

C. Duke - noble man |:| slightly deaf |:|

Read the passage and fill in the blanks:

b, (stopped, ran) by Mr. Kumar’s house one day
and was greeted by a rather old looking dog. She was a gentle animal who
.............................. (chased, wagged) her tail as she pushed her nose against
my hand. “What’s her..........cccccceeiinininnes (age, name)?” | asked. ‘I call her
‘Dog Face,” repliedthe old ...........ccceeeeeeeeeeeiiinnnnns (dog, gentleman). “...............
(How, Why)do you call her that?” | inquired. “Can’t you understand ?” asked
Mr. Kumar. “Not really.” Mr. Kumar held the old animal’s head in his hands. “If
177§ R (listen,look) at just the right angle, you can see
that she has a dog’s face” he .......cccvvvvviviiinnnnnnn. (asked, explained). “But
SNE IS @...euviiiiiiiiiiiiiii e (person, dog)!” I said. “Shhhh!” Mr. Kumar
responded with the loudest whisper | have ever ............ccccccooenee (found, heard)
“Don’t let her hear you say that!” I said ...........ccccooviiiiiiiiiiinneen. (words,nothing),

because | didn’t know what to say.
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10.

11.

12.
13.

State whether T or F: 2

a. Lassie was not a friendly dog.
b.  The mouse shared the cake with everyone.

c. Joe’s family lived in the country of Yorkshire.

LU

d.  Ostriches are found mostly in America.

Part - B

(Use separate answer sheets to write the answers)

Look at the picture of the house. Describe the house using at least three
adjectives : 3

Write one of your favourite stories : 5
Answer the following questions: 2x5=10
a. Complete the following:

a. When Mother reads aloud, far lands............ .

b. Joe’s parents had to sell Lassie as ............... .
b.  Who said the following and to whom?

a. “Itisn’t Lassie. It's another that looks like her.”

b. “Let’s keep her this time.”
c.  Why did the duke look at the dog’s paws?
d.  Why did Lassie escape from the duke?

e.  Why did the doctor say “advise is too late”?
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Total marks STANDARD-4 Time : 2hrs.
obtained Marks : 50
out of 50 El@OQO
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ANNUAL EXAMINATION
STANDARD - 4

Total marks Time : 2 hrs.
obtained | MATHEMATICS | Marks - 50
out of 50 Part - A

(Write the answers in the question paper itself)

1. Write the fraction to represent the shaded parts and match to the
equivalent fraction: 6

2 Fill in the blanks: 5
a. Pictures that represent information are called ............ooovveviiiiiiicciiinnnnn.
b.  To convert hours to minutes, Multiply By ... .
c. Februaryhas..................... days in a leap year.
d. Quadrilateral is a polygon made of ...........ccccooviiieieennnns line segments.

e. Thelength of the circleis called ...........ccoooiiiiiiiiiiiie .

3.  Tick the correct option: 2
a. % L fraction.  improper [ ] unit ]
b. % and %are ....................... fractions. like [ ] equivalent [ ]
C. % IS AN e fraction. proper [ ] improper [ ]
d 6 % IS @ uueerrrrreree e e e fraction. mixed [ ] proper ]
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Find the answer:

a 3 2
— + — =
8 8
c 2 1 3
+ + =
11 11 11

Fill in the blanks using <, > or =:

a. 5 7
7 7

c 2
2 4

Shade or colour according to the given fraction:

a.

Lo To N
0 48

5
Tick the correct picture:

a. asimple closed curve.

b. apolygon.

b.

b. 5
17 17
d. 8 2 _
9 9
b.
13 13
d 1 3
5 5
= =9 69
=0 =9 =9

o9 ¢S S

Fill in the blanks based on the figure given:

a. Oisthe .oevvveeeen of the circle.
b. OPisa .ccoccceeveeieennn.n, of the circle.
C. ABisa ...ooccoccoiveniinnn.n. of the circle.

O 4

d. CDisa oo, of the circle.



9.  Write the time in two ways as shown: 3

12:15
or or or

quarter past 12

10. Complete the symmetrical figure: 2

Part - B
(Use separate answer sheets to write the answers)

11. List any 4 letters of the English alphabet which are symmetrical: 2

12. a. List the months which have 30 days:

b. Write in minutes:

a. 4 hours b. 5 hours 25 minutes
C. Write in hours: 3
a. 360 minutes b. 540 minutes

13. Do these problems:

a. Atrain leaves Kochi at 6.45 am and reaches Trissur at 8.10 am. How long
does it take the train to reach Trissur? 2

b. A ticket seller sells 460 tickets a day. How many tickets would he sell in the
month of January? 2

c. There are 400 mango trees, 500 coconut palms, 300 guava trees and 200
cashew trees in an orchard. Represent them in a pictograph.

key 90 = 100 trees 4
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ANNUAL EXAMINATION
STANDARD - 4

Total marks Time : 2 hrs.
obtained SCIENCE Marks : 50
out of 50 Part - A

(Write the answers in the question paper itself)

1. Identify these pictures and write the change of energy when it works: 6

....................................... 10 o
= A [ O 10 i
——=—= N}
i
B
....................................... 10 o
2. Name the follwing: 6
a. It stops us from floating in the air.
b.  This makes our work easier. L
c. Theforce that stops the rolling ball.
d. Clothes that catch fire easily.
e.  The first help that an injured person needs  ........ccccciiiiiiiiiiiiece e,
f. Mixture of sand and clay e
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3. Match:

[ insect bites tight bandage

[ burn stored energy

[ battery lime water

~—— W W S

[
[
[ the smallest particle
[
[

antiseptic cream

)
]
[ bleeding |
)
)

{ atom

4, Write true or false:
a. Keep the floors of your house wet.
b. Always cross the road at a zebra crossing. .
c. Whenwe push awall,aworkisdone.
d. A force can change the direction of a moving body. ........ccccooiiiiiiiienns
e. Running water has energy.

5. Name these simple machines. When do we use them?




Fill in the blanks: 5

B e ———————————— is the ability to do work.
b. Apushorpulliscalled @ ........cccoceeieeiiiiiiiiiiieeeeee e .
C. Alwayswalkonthe ........ccccooiiiiiiiiiiie s .
d. Walkonthe ... side of the road.
e. Ourbody stores energy inthe form of ..., X
Part-B
(Use separate answer sheets to write the answers)
Give reason for : 6
a. Itis difficult to walk on a very smooth surface.
b.  When we throw a ball up, it comes down.
c. Roots of mangrove plants grow upwards above the soil.
d. Do not crowd around an injured person.
Name and draw two sources of light energy : 4
a. a natural source b.  an artificial source

Answer these questions:

a.

b.

Name three important kinds of soil. 1%
In what ways can soil be conserved? 12
Name 4 sources of energy. 4
What first aid should be given? 4

a. for burns

b.  for a person who has fainted
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ANNUAL EXAMINATION
STANDARD - 4

Total marks Time : 2 hrs.
obtainog |SOCIAL STUDIES | Marks - 50
out of 50 Part - A

(Write the answers in the question paper itself)
1. Tick the correct answer: 8

a. Cows and bullocks are called live stock D poultry D

b.  Better agricultural production is called white D green D revolution.
c. Instant written messages : fax| | letter| |

d. Babul trees are found in mountains D deserts D

e. Indira Gandhi Canal : Kerala D Rajasthan D

f. Vivekananda Memorial : Kanyakumari D Perambur D

g.  Mostimportant food crop in India : rice[ |wheat| |

h. Mass media : telephone| |radio[ |

2 Match A to B to C: 10
A B Cc
( cotton ) ( Sunderbans ) ( Maharashtra )
( Royal Bengal Tiger ) ( Computer ) ( Paschim Banga )
(needle shaped Ieavesj [ Black soil ] [ e-mail ]
( Dams ] [control floods ] [ Himalayan slopes ]
( internet ] [ pine, fir ] (multi purpose river valley projects]
3. Fill in the blanks: 5
A e is a popular and also the easiest means of communication.
b. Ricegrowswellin ......cccccccceveennnnnn. and ... climate.
c. Milletsinclude ..........ccooovmveiieeiinnnnne AN . .
d Dead........oooviiiiiiiieenn. and ..o which are buried
underground form .........ccccceeeeeenennn. and .......cceeveiiiees after long years.
e. Treesofthe ....cccoooiinnennne forests do not shed their leaves all at once.
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Read the clues and solve the crossword: 6
Across

1. Kolkata was earlier known as ....... .

2. Tigerisour.......... animal.

3. ...communication helps us to see live programmes of events around the world.
Down

4,
5.

Write ‘T’ or ‘F’. If false write the correct answer in the space given below: 6

a. Telegramsarecosty.
s Wompon g quntly f e prOEE.
C Sa nctu a ne S : p rOt ect W Ild“fe .................................................................................................
d Canals are bu”t across nve rs .............................................................................................
e Tam I Inadu“esm th e Konkanc Oa St ....................................................................................
A —



6. Answer briefly:

a. What is mass media?

b.  What is wildlife?
c. Whatis terrace farming?

Part - B

(Use separate answer sheets to write the answers)

7. Answer the following:
a. What advantage does e-mail have over the ordinary letter sent by post?

b.  What crops grow well in alluvial soil? Where is alluvial soil chiefly found?

c.  What are animals killed illegally for?
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